
 

  

 

 



 



 



 

  

 



 



 

 

ECP =
Dívida de Curto Prazo

Ativo Total

ELP =
Dívida de Longo Prazo

Ativo Total

𝑅𝑂𝐴 =  
EBITDA

Ativo Total

𝑅𝐼𝑆𝐶 =  
Desvio padrão (EBIT)

Ativo Total

TAM =  ln(Receita Operacional Líquida)

𝐼𝐿𝐶 =  
Ativo Circulante

Passivo Circulante

(Vendast−Vendast−1)

Vendast−1

𝑇𝐴𝑁𝐺 =  
(Imobilizado + Estoque)

Ativo Total



 

𝐸𝐶𝑃𝑖𝑡 = 𝛽0 + 𝛽1𝑅𝑂𝐴𝑖𝑡 + 𝛽2𝑖𝑡𝑅𝐼𝑆𝐶𝑖𝑡 + 𝛽3𝑖𝑡𝑇𝐴𝑀𝑖𝑡 + 𝛽4𝑖𝑡𝐼𝐿𝐶𝑖𝑡 + 𝛽5𝑖𝑡𝐶𝑅𝐸𝑆𝐶𝑖𝑡 + 𝛽6𝑖𝑡𝑇𝐴𝑁𝐺𝑖𝑡 + 𝑒𝑖𝑡

𝐸𝐿𝑃𝑖𝑡 = 𝛽0 + 𝛽1𝑅𝑂𝐴𝑖𝑡 + 𝛽2𝑖𝑡𝑅𝐼𝑆𝐶𝑖𝑡 + 𝛽3𝑖𝑡𝑇𝐴𝑀𝑖𝑡 + 𝛽4𝑖𝑡𝐼𝐿𝐶𝑖𝑡 + 𝛽5𝑖𝑡𝐶𝑅𝐸𝑆𝐶𝑖𝑡 + 𝛽6𝑖𝑡𝑇𝐴𝑁𝐺𝑖𝑡 + 𝑒𝑖𝑡



 



 

 



 



 



 



 



 


